MANATEE COUNTY GOVERNMENT SOURCE SELECTION

SUBJECT	Issuance of Notice of Intent to Award Perico Bayou Parking Area (IFB #12-3187-OV)	DATE POSTED	Date Posted on Mymanatee.org 3/20/13
PURCHASING REPRESENTATIVE	Olga Valcich, 749-3055	DATE CONTRACT SHALL BE AWARDED	Contingent upon the acceptance by the Board of County Commissioners
DEPARTMENT	Financial Management Dept., Purchasing Division	CONSEQUENCES IF DEFERRED	
SOURCE RECOMMENDATION	Gator Grading & Paving, LLC, Palmetto, FL	AUTHORIZED BY DATE	Melissa Wendel, CPPO Date 3/19/13

ACTION DESIRED

Notice of Intent to award Invitation for Bid #12-3187-OV, Perico Bayou Parking Area to the lowest, responsive and responsible bidder, Gator Grading & Paving, LLC, Palmetto, FL for a total base bid of \$586,694.70 (Option "A", 90 days).

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.)

Manatee County Code of Law

BACKGROUND/DISCUSSION

- The Perico Bayou Parking Area Project will create off street parking for the residents that utilize the recreational facilities within Perico Bayou and Robinson Preserve. The work included in this project will provide an exclusive left-turn lane on Manatee Avenue which will provide access into the proposed shell parking area. The left lane will be constructed by widening the south side of Manatee Avenue by six (6) feet for a length of 300 feet. Additional widening on the south side of Manatee Avenue will accommodate a right turn lane into the parking area and a keyhole. The construction of a 314 LF boardwalk on the north side of Manatee Avenue will tie into the existing recreational path on Robinson Preserve. 498 LF of 6 feet wide concrete sidewalks will also be constructed to connect the proposed 0.55 acre shell parking area to the boardwalk. A 0.13 acre dry retention pond will provide stormwater treatment for the parking area and the road.
- Background / discussion continued on page 2.

	e award of Bid #12-3187-OV to Gato ou Parking Area.	or Grading & Paving, LLC for
ATTACHMENTS: (List in order as attached)		
Bid Tabulation		
		303-604878722-534000 - Parks & Rec Capital Project Fund
		307-6048722-534000 - 5 & 6 Cent Capital Gas Tax Fund
		309-6048722-534000 – Capita Gas Tax Fund
		310-6048722-534000 - Building Capital Project Fund
		All funds verified.
COST \$586,694.70	SOURCE (ACCT# & NAME)	
COMMENTS	AMT./FREQ. OF RECURRING COSTS (ATTACH FISCAL IMPACT STATEMENT)	Budget Amendment approved in open forum on February 26 2013

SOURCE SELECTION (continued	E SELECTIC	N (continued)	
-----------------------------	------------	---------------	--

Page 2

(IFB #12-3187-OV) Perico Bayou Parking Area March 15, 2013

- <u>November 29, 2012 to January 18, 2013</u> appropriate bid procedures were followed. Notice of Bid availability was broadcast to DemandStar, mymanatee.org and the Chamber of Commerce.
- Two (2) bids were received: Below is a summary of the bids received:

Manatee County Firm(s)
Gator Grading & Paving, LLC

Bid "A" 90 day completion \$586.694.70 Bid "B" (120 day completion)

\$586,694.70

Palmetto, FL

Superior Asphalt, Inc.

\$669,360.73

\$679,360.73

- March 7, 2013, memorandum received from Public Works Department recommending award to Gator Grading and Paving, LLC, located at 2704 105th Street East, Palmetto, FL 34221 for a total base bid of \$586,694.70 with a 90 calendar day completion (Option "A").
- Adoption of Budge Resolutions B-13-034 for Public Works, Reference: BU13000211, approved in Open Session by the Manatee County Board of County Commissioners on February 26, 2013.
- Funding Source: Parks and Rec Capital Project Fund, 5 & 6 Cent Capital Gas Tax Fund, Capital Gas Tax Fund, Building Capital Project Fund.

Page 1 of 4

TRANSPORTATION PROJECT NO. 6048722 PERICO BAYOU PARKING AREA BID "A" IFB #12-3187-OV

			18	17	16	5	14	13	12	<u> </u>	10	9	8	7	6	51	4	ω	2	_	No.	PER			
			MC-8 (Add. #2)	700-20-11	0570-1-2	0542-70	0530-3-4	0520-2-9	0520-2-4	0514-71-2	0430-982-265	0430-174-218	0425-3-41	0425-1549	0285-704	0120-6	0120-1	0110-1-1	0104-10-3	0101-1	FDOT Item No.	PERICO BAYOU PARKING AREA			
TOTAL PERICO BAYOU PARKING AREA	DISCRETIONARY	SUBTOTAL PERICO BAYOU PARKING AREA	4 x 4 Wooden Parking Stops, 8' Long	Handicap Sign 12" x 18"	Performance Turf, Sod, Bahia - ADDENDUM #2	Concrete Bumper Guard	Rip-R+C45ap, Rubble F & I Ditch Lining - ADDENDUM #2	Concrete Curb, Type X (Special)	Concrete Curb, Type D	Plastic Filter Fabric	Mitered End Section, RCP Elliptical	14" x 23" ERCP	Junction Box, Drainage P-7	Ditch Bottom Inlet, Type D Modify	6" Bank Run Shell (Fill Parking Area) - ADDENDUM #2	Embankment	Regular Excavation (Pond & Parking)	Clearing & Grubbing	Staked Silt Fence, Type III	Mobilization	Line Item	ARKING AREA		BID "A" 90 CALENDAR DAYS	
			Ę	AS	SY	ΕA	Į	듀	두	SY	ΕA	5	ΕA	Ę	SY	S	CY	ACRE	5	LS	Unit				
			34	2	3,000	31	7	52	215	4	2	200	_	ω	1,973	1,253	1,456	2	491	_	Qty				
			\$26.50	\$150.00	\$2.50	\$37.00	\$50.00	\$25.00	\$15.00	\$95.00	\$1,050.00	\$50.75	\$1,350.00	\$1,875.00	\$8.55	\$11.40	\$6.25	\$7,000.00	\$1.20	\$33,250.00	Unit Price		(Manate	Gator Grading 2704 105th Palmetto	-
\$141,920.55	\$23,000.00	\$118,920.55	\$901.00	\$300.00	\$7,500.00	\$1,147.00	\$350.00	\$1,300.00	\$3,225.00	\$380.00	\$2,100.00	\$10,150.00	\$1,350.00	\$5,625.00	\$16,869.15	\$14,284.20	\$9,100.00	\$10,500.00	\$589.20	\$33,250.00	Extended Price		(Manatee County)	Gator Grading & Paving LLC 2704 105th Street East Palmetto, FL 34221	
			\$114.00	\$185.00	\$1.60	\$55.00	\$148.00	\$21.05	\$11.85	\$290.00	\$1,050.00	\$36.85	\$3,160.00	\$3,370.00	\$12.30	\$9.95	\$15.00	\$7,150.00	\$2.35	\$72,300.00	Unit Price		(Manatee County)	Superior Asphalt, Inc. P.O. Box 2489 Oneco, FL 34264	
\$205,083.45																					Extended Price		e Co	FL ox	2

\$204,773.65		\$157,957.75				TOTAL PERICO BAYOU ROAD WORK		
\$23,000.00		\$23,000.00				DISCRETIONARY		
\$181,773.65		\$134,957.75				SUBTOTAL PERICO BAYOU ROAD WORK		
\$3,200.00	\$1.60	\$5,000.00	\$2.50	2,000	SF	17 Remove ex.Thermoplastic Pavement Markings - ADD #2	711-11-17	38
\$481.95	\$3.15	\$650.25	\$4.25	153	두	Thermoplastic, Standard, Yellow, Solid, 18"	711-11-224	37
\$2,330.85	\$5,685.00	\$1,640.00	\$4,000.00	0.41	N	Thermoplastic, Standard, Yellow, Solid, 6"	711-11-211	36
\$685.00	\$68.50	\$750.00	\$75.00	10	EA	70 Thermoplastic, Standard, White, Arrow	711-11-170	35
\$170.20	\$1.15	\$192.40	\$1.30	148	5	Thermoplastic, Standard, White, Skip, 6" 2' - 4' Skip	0711-11-151	34
\$144.65	\$1,315.00	\$137.50	\$1,250.00	0.11	GM	Thermoplastic, Standard, White, Skip, 6" 6' - 10'	0711-11-131	33
\$100.80	\$4.20	\$120.00	\$5.00	24	Ę	Thermoplastic, Standard, White, Solid, 24"	711-11-125	32
\$3,013.05	\$5,685.00	\$2,120.00	\$4,000.00	0.53	Z	Thermoplastic, Standard, White, Solid, 6"	711-11-111	31
\$430.55	\$3.95	\$681.25	\$6.25	109	EA	Retro-Reflective Pavement Markers	706-3	30
\$225.00	\$225.00	\$225.00	\$225.00	_	AS	11 Stop Sign (R1-1)	700-20-11	29
\$3,417.60	\$1.60	\$5,874.00	\$2.75	2,136	SY	Performance Turf, Sod, Bahia - ADDENDUM #2	570-1-2	28
\$16,416.00	\$144.00	\$18,240.00	\$160.00	114	TN	32 1" Asphalt Concrete FC-9.5, Traffic C, Rubber	0337-7-32	27
\$23,730.00	\$105.00	\$24,860.00	\$110.00	226	T _N	13 2" Superpave Asphalt Concrete, Traffic C, SP 12.5	0334-1-13	26
\$51,801.60	\$22.80	\$39,760.00	\$17.50	2,272	SY	10" Optional Base Group 9: Limerock LBR 100	0285-706	25
\$21,165.00	\$8.50	\$8,092.50	\$3.25	2,490	SY	12" Type B Stabilization (LBR 40)	0160-4	24
\$1,273.10	\$21.95	\$3,480.00	\$60.00	58	cy	6 Embankment	0120-6	23
\$17,511.20	\$42.40	\$4,563.65	\$11.05	413	CY	1 Regular Excavation	0120-1	22
\$19,065.00	\$12,710.00	\$10,350.00	\$6,900.00	2	ACRE	-1 Clearing & Grubbing	0110-1-1	21
\$1,262.10	\$2.10	\$721.20	\$1.20	601	٦	3 Staked Silt Fence, Type III	0104-10-3	20
\$15,350.00	\$15,350.00	\$7,500.00	\$7,500.00	_	LS	MOT	0102-1	19
Extended Price	Unit Price	Extended Price	Unit Price	Qty	Unit	o Line Item	FDOT Item No	Item No.
						PERICO BAYOU ROAD WORK	COBAYOU	PER
P.O. Box 2489 Oneco, FL 34264 (Manatee County)	Oneco, F (Manated	Palmetto, FL 34221 (Manatee County)	Palmetto, (Manatee			90 CALENDAR DAYS		
Superior Asphalt, Inc.	Superior A	Gator Grading & Paving LLC	Gator Grading			BID "A"		
2			1	£				

				68	67	66	65	64	63	62	61	60	59	58	57	56	55	54	53	52	51	50	49	48	47	46	45	4	43	42	41	40	39	No.	Item	PERI				
				MC7	MC6	MC5	MC4	МСЗ	MC2	MC1	0570-1-2	0550-10-212	0530-3-3	0522-1	0515-2302	0514-71-2	0470-1	0470-1	0470-1	0470-1	0455-2	0415-1-5	0400-2-5	0285-705	0121-70	120-72	0120-6	0120-1	0110-3	0110-1-1	0104-11	0104-10-3	0104-6	Item No.	FDOT	CO BOARDW				
TOTAL BID PRICE "A" - 90 Calendar Days	TOTAL PERICO BAYOU BOARDWALK & SIDEWALK	DISCRETIONARY	SUBTOTAL PERICO BAYOU BOARDWALK & SIDEWALK	Fastening Hardware Remainder (Bolts, Screws, Nails) - ADD. #2	1/2" SS 304 HILTI HI-HY 150 Adhesive Anchors - ADD. #2	Simpson H4 (Or Equal) - ADDENDUM #2	Simpson ABE44 (Or Equal) - ADDENDUM #2	Simpson LTT19 (Or Equal) - ADDENDUM #2	Simpson DTT2 (Or Equal) - ADDENDUM #2	Simpson HU 210 (Or Equal) - ADDENDUM #2	Performance Turf, Sod, Bahia - ADDENDUM #2	Fencing (9 Gauge Galv. Wire)	Rip-Rap - Rubble (Boardwalk and Sidewalk)	6' of Concrete Sidewalk	Pedestrian Bicycle Railing Aluminum Only - 54" Picket Rail	Plastic Filter Fabric - ADDENDUM #2	Timber - 4 x 4 (Posts) - ADDENDUM #2	Timber - 2 x 12 (Joists / Pile Caps)	Timber - 2 x 6 (Railing / Decking) - ADDENDUM #2	Timber - 2 x 4 (Bracing / Blocking) - ADDENDUM #2	Timber Piling (10" Diameter) - ADDENDUM #2	Reinforcing Steel	Concrete Class II	14" Optional Base Group 5: Crushed Concrete	Concrete Slurry (Flowable Fill) 1" - ADDENDUM #2	9" Gravel Fill (Not to exceed 1" Diameter) - ADDENDUM #2	Embankment	Regular Excavation	Removal of existing Structure (Rip-Rap) - ADDENDUM #2	Clearing & Grubbing	Floating Turbidity Barrier, Type III	Staked Silt Fence, Type III	Sand Bags	Line Item		PERICO BOARDWALK & SIDEWALK		90 CAI ENDAR DAYS	ייאיי כוס	
				LB	ΕA	ΕA	ΕA	ΕA	ΕA	ΕA	SY	듀	T N	SY	두	SY	MB	MB	MB	MB	ᄕ	LB	СҮ	SY	СҮ	СҮ	С	CY	LS	ACRE	두	두	ᄕ	Unit			September 1			
				130	10	12	6	4	140	120	616	570	1.5	332	340	815	0.628	2.782	2.888	0.748	784	600	4	205	10.000	54	85	67	_	<u></u>	210	290	264	Qty						
				\$150.00	\$30.00	\$30.00	\$30.00	\$23.50	\$12.50	\$10.00	\$1.90	\$8.50	\$675.00	\$37.50	\$83.50	\$2.50	\$9,500.00	\$9,500.00	\$3,250.00	\$11,000.00	\$110.00	\$2.50	\$1,250.00		4	\$90.00	\$30.00	\$37.50	\$6,425.00	\$9,100.00	\$11.25	\$1.20	\$30.00	Price	Unit		(Manate	2704 105tl Palmetto	Gator Gradin	
\$586,694.70	\$286,816.40	\$23,000.00	\$263,816.40	\$19,500.00	\$300.00	\$360.00	\$180.00	\$94.00	\$1,750.00	\$1,200.00	\$1,170.40	\$4,845.00	\$1,012.50	\$12,450.00	\$28,390.00	\$2,037.50	\$5,966.00	\$26,429.00	\$9,386.00	\$8,228.00	\$86,240.00	\$1,500.00	\$5,000.00	\$8,200.00	\$3,500.00	\$4,860.00	\$2,550.00	\$2,512.50	\$6,425.00	\$9,100.00	\$2,362.50	\$348.00	\$7,920.00	Price	Extended		Manatee County)	2704 105th Street East Palmetto, FL 34221	Gator Grading & Paving LLC	dept. section and
				\$126.35	\$26.35	\$26.35	\$26.35	\$19.75	\$10.25	\$8.40	\$1.60	\$7.40	\$163.00	\$21.90	\$61.85	\$2.95	\$7,895.00	\$7,895.00	\$2,735.00	\$9,475.00	\$91.00	\$0.85	\$2,385.00	\$69.50	\$344.00	\$110.00	\$19.85	\$71.20	\$4,285.00	\$13,180.00	\$23.70	\$1.75	\$16.40	Price	Unit		(Manate	P.O. E Oneco,	Superior A	
\$669,360.73	\$259,503.63	\$23,000.00	\$236,503.63	\$16,425.50	\$263.50	\$316.20	\$158.10	\$79.00	\$1,435.00	\$1,008.00	\$985.60	\$4,218.00	\$244.50	\$7,270.80	\$21,029.00	\$2,404.25	\$4,958.06	\$21,963.89	\$7,898.68	\$7,087.30	\$71,344.00	\$510.00	\$9,540.00	\$14,247.50	\$3,440.00	\$5,940.00	\$1,687.25	\$4,770.40	\$4,285.00	\$13,180.00	\$4,977.00	\$507.50	\$4,329.60	Price	Extended		Manatee County)	P.O. Box 2489 Oneco, FL 34264	Superior Asphalt, Inc.	2

Page 3 of 4

			2
BID "A" 90 CALENDAR DAYS		Gator Grading & Paving LLC 2704 105th Street East Palmetto, FL 34221 (Manatee County)	Superior Asphalt, Inc. P.O. Box 2489 Oneco, FL 34264 (Manatee County)
Acknowledged Addendum #1 dated 12/14/12	多是是	Yes	Yes
Acknowledged Addendum #2 dated 12/21/12		Yes	Yes
Acknowledged Addendum #3 dated 1/11/13		Yes	No
Contractor's Questionnaire		Yes	Yes
Contractor's License		CGC #1514102 - 8/16/07 Expires 8/31/14 CUC #1224433- 8/16/07 Expires 8/31/14	CGC #034831
Florida Trench Safety Act		Yes	Yes
Public Contracting & Environmental Crimes	REAL PROPERTY.	Yes	Yes
Bid Bond	6 月 教教教育 南京	Yes	Yes
Affidavit for Local Business (if applicable)	制制性验证	Yes	Yes
Notes:		N/A	N/A

REVIEWED BY: (Project Engineer) REVIEWED BY: Alidys AliceaMonsantos, Engineering Specialist I REVIEWED BY: (Project Mgmt) Bijan Martineau, Sr. Engineering Specialist Date	PREPARED BY:	Shirt Kohmson	1/23/13
(Project Engineer) Alidys AliceaMonsantos, Engineering Specialist I Date 1 23 13	(Project Mgmt)	Sherri Robinson, Assessment Coordinator	Date
(Project Engineer) Alidys AliceaMonsantos, Engineering Specialist I Date 1 23 13		11. 11	
REVIEWED BY: 1 23 13	REVIEWED BY:	Shely Shell	1/23/13
	(Project Engineer)	Alidys Ali≰eaMonsantos, Engineering Specialist I	Date
(Project Mgmt) Bijan Martineau, Sr. Engineering Specialist Date	REVIEWED BY:		1/23/13
	(Project Mgmt)	Brian Martineau, Sr. Engineering Specialist	Date
APPROVED BY: 1/24/13	APPROVED BY:	Ma Holaid	1/24/13
(Purchasing) Ofga Valcich, Contract Specialist Date	(Purchasing)	Olga Valcich, Contract Specialist	Date

Page 4 of 4

1/23/2013

IFB #12-3187-OV TRANSPORTATION PROJECT NO. 6048722 PERICO BAYOU PARKING AREA BID "B"

					1			
		BID "B" 120 CALENDAR DAYS			2704 105th Palmetto,	& Paving LLC Street East FL 34221 County)	Oneco, F	sphalt, Inc. ox 2489 L 34264 (County)
PER	CO BAYOU PA	RKING AREA						
item No.	FDOT Item No.	Line Item	Unit	Qty	Unit Price	Extended Price	Unit Price	Extended Price
1	0101-1	Mobilization	LS	1	\$33,250.00	\$33,250.00	\$82,300.00	\$82,300.00
2	0104-10-3	Staked Siit Fence, Type III	LF	491	\$1.20	\$589.20	\$2.35	\$1,153.85
3	0110-1-1	Clearing & Grubbing	ACRE	2	\$7,000.00	\$10,500.00	\$7,150.00	\$10,725.00
4	0120-1	Regular Excavation (Pond & Parking)	CY	1,456	\$6.25	\$9,100.00	\$15.00	\$21,840.00
5	0120-6	Embankment	CY	1,253	\$11.40	\$14,284.20	\$9.95	\$12,467.35
6	0285-704	6" Bank Run Shell (Fill Parking Area) - ADDENDUM #2	SY	1,973	\$8.55	\$16,869.15	\$12.30	\$24,267.90
7	0425-1549	Ditch Bottom Inlet, Type D Modify	EA	3	\$1,875.00	\$5,625.00	\$3,370.00	\$10,110.00
8	0425-3-41	Junction Box, Drainage P-7	EA	1	\$1,350.00	\$1,350.00	\$3,160.00	\$3,160.00
9	0430-174-218	14" x 23" ERCP	LF	200	\$50.75	\$10,150.00	\$36.85	\$7,370.00
10	0430-982-265	Mitered End Section, RCP Elliptical	EA	2	\$1,050.00	\$2,100.00	\$1,050.00	\$2,100.00
11	0514-71-2	Plastic Filter Fabric	SY	4	\$95.00	\$380.00	\$290.00	\$1,160.00
12	0520-2-4	Concrete Curb, Type D	LF	215	\$15.00	\$3,225.00	\$11.85	\$2,547.75
13	0520-2-9	Concrete Curb, Type X (Special)	LF	52	\$25.00	\$1,300.00	\$21.05	\$1,094.60
14	0530-3-4	Rip-R+C45ap, Rubble F & I Ditch Lining - ADDENDUM #2	TN	7	\$50.00	\$350.00	\$148.00	\$1,036.00
15	0542-70	Concrete Bumper Guard	EA	31	\$37.00	\$1,147.00	\$55.00	\$1,705.00
16	0570-1-2	Performance Turf, Sod, Bahia - ADDENDUM #2	SY	3,000	\$2.50	\$7,500.00	\$1.60	\$4,800.00
17	700-20-11	Handicap Sign 12" x 18"	AS	2	\$150.00	\$300.00	\$185.00	\$370.00
18	MC-8 (Add. #2)	4 x 4 Wooden Parking Stops, 8' Long	EA	34	\$26.50	\$901.00	\$114.00	\$3,876.00
		SUBTOTAL PERICO BAYOU PARKING AREA				\$118,920.55		\$192,083.45
		DISCRETIONARY				\$23,000.00		\$23,000.00
		TOTAL PERICO BAYOU PARKING AREA				\$141,920.55	**************************************	\$215,083.45

Page 1 of 4 1/23/2013

					1			2
		BID "B" 120 CALENDAR DAYS			2704 105th Palmetto	& Paving LLC Street East FL 34221 e County)	Superior A P.O. B Oneco,	sphalt, Inc. ox 2489 FL 34264 e County)
PERI	CO BAYOU R	OAD WORK						
No.	FDOT Item No.	Line Item	Unit	Qty	Unit Price	Extended Price	Unit Price	Extended Price
19	0102-1	MOT	LS	1	\$7,500.00	\$7,500.00	\$15,350.00	\$15,350.00
20	0104-10-3	Staked Silt Fence, Type ill	LF	601	\$1.20	\$721.20	\$2.10	\$1,262.10
21	0110-1-1	Clearing & Grubbing	ACRE	2	\$6,900.00	\$10,350.00	\$12,710.00	\$19,065.00
22	0120-1	Regular Excavation	CY	413	\$11.05	\$4,563.65	\$42.40	\$17,511.20
23	0120-6	Embankment	CY	58	\$60,00	\$3,480.00	\$21.95	\$1,273.10
24	0160-4	12" Type 8 Stabilization (LBR 40)	SY	2,490	\$3.25	\$8,092.50	\$8.50	\$21,165.00
25	0285-706	10" Optional Base Group 9: Limerock LBR 100	SY	2,272	\$17.50	\$39,760.00	\$22.80	\$51,801.60
26	0334-1-13	2" Superpave Asphait Concrete, Traffic C, SP 12.5	TN	226	\$110.00	\$24,860.00	\$105.00	\$23,730.00
27	0337-7-32	1" Asphalt Concrete FC-9.5, Traffic C, Rubber	TN	114	\$160.00	\$18,240.00	\$144.00	\$16,416,00
28	570-1-2	Performance Turf, Sod, Bahla - ADDENDUM #2	SY	2,136	\$2.75	\$5,874.00	\$1.60	\$3,417.60
29	700-20-11	Stop Sign (R1-1)	AS	1	\$225.00	\$225.00	\$225.00	\$225.00
30	706-3	Retro-Reflective Pavement Markers	EA	109	\$6.25	\$681.25	\$3.95	\$430.55
31	711-11-111	Thermoplastic, Standard, White, Solid, 6"	NM	0.53	\$4,000.00	\$2,120.00	\$5,685.00	\$3,013.05
32	711-11-125	Thermoplastic, Standard, White, Solid, 24"	LF	24	\$5.00	\$120.00	\$4.20	\$100.80
33	0711-11-131	Thermoplastic, Standard, White, Skip, 6" 6' - 10'	GM	0.11	\$1,250.00	\$137.50	\$1,315.00	\$144.65
34	0711-11-151	Thermoplastic, Standard, White, Skip, 6" 2' - 4' Skip	LF	148	\$1.30	\$192.40	\$1.15	\$170.20
35	711-11-170	Thermoplastic, Standard, White, Arrow	EA	10	\$75.00	\$750.00	\$68.50	\$685.00
36	711-11-211	Thermoplastic, Standard, Yellow, Solid, 6"	NM	0.41	\$4,000.00	\$1,640.00	\$5,685.00	\$2,330.85
37	711-11-224	Thermoplastic, Standard, Yellow, Solid, 18"	LF	153	\$4.25	\$650.25	\$3.15	\$481.95
38	711-11-17	Remove ex.Thermoplastic Pavement Markings - ADD #2	SF	2,000	\$2.50	\$5,000.00	\$1.60	\$3,200.00
		SUBTOTAL PERICO BAYOU ROAD WORK				\$134,957.75		\$181,773.66
		DISCRETIONARY				\$23,000.00		\$23,000.00
		TOTAL PERICO BAYOU ROAD WORK				\$157,957.76		\$204,773.65

Page 2 of 4 1/23/2013

		BID "B" 120 CALENDAR DAYS			2704 105th Palmetto,	& Paving LLC Street East FL 34221 County)	P.O. Bo Oneco, I	ephalt, Inc. ox 2489 FL 34264 e County)
PERI	CO BOARDW	ALK & SIDEWALK						
Item No.	FDOT Item No.	Line Item	Unit	Qty	Unit Price	Extended Price	Unit Price	Extended Price
39	0104-6	Sand Bags	LF	264	\$30.00	\$7,920.00	\$16.40	\$4,329.60
40	0104-10-3	Staked Sitt Fence, Type III	LF	290	\$1.20	\$348.00	\$1.75	\$507.50
41	0104-11	Floating Turbidity Barrier, Type III	LF	210	\$11.25	\$2,362.50	\$23.70	\$4,977.00
42	0110-1-1	Clearing & Grubbing	ACRE	1	\$9,100.00	\$9,100.00	\$13,180.00	\$13,180.00
43	0110-3	Removal of existing Structure (Rip-Rap) - ADDENDUM #2	LS	1	\$6,425.00	\$6,425.00	\$4,285.00	\$4,285.00
44	0120-1	Regular Excavation	CY	67	\$37.50	\$2,512.50	\$71.20	\$4,770.40
45	0120-6	Embankment	CY	85	\$30.00	\$2,550.00	\$19.85	\$1,687.25
46	120-72	9" Gravel Fill (Not to exceed 1" Diameter) - ADDENDUM #2	CY	54	\$90.00	\$4,860.00	\$110.00	\$5,940.00
47	0121-70	Concrete Siurry (Fiowable Fill) 1" - ADDENDUM #2	CY	10.000	\$350.00	\$3,500.00	\$344.00	\$3,440.00
48	0285-705	14" Optional Base Group 5: Crushed Concrete	SY	205	\$40.00	\$8,200,00	\$69.50	\$14,247.50
49	0400-2-5	Concrete Class il	CY	4	\$1,250.00	\$5,000.00	\$2,385.00	\$9,540.00
50	0415-1-5	Reinforcing Steel	LB	600	\$2.50	\$1,500,00	\$0.85	\$510.00
51	0455-2	Timber Piling (10" Diameter) - ADDENDUM #2	LF	784	\$110,00	\$86,240.00	\$91.00	\$71,344.00
52	0470-1	Timber - 2 x 4 (Bracing / Blocking) - ADDENDUM #2	MB	0.748	\$11,000.00	\$8,228.00	\$9,475.00	\$7,087.30
53	0470-1	Timber - 2 x 6 (Railing / Decking) - ADDENDUM #2	MB	2.888	\$3,250.00	\$9,386.00	\$2,735.00	\$7,898.68
54	0470-1	Timber - 2 x 12 (Joists / Pile Caps)	MB	2.782	\$9,500.00	\$26,429.00	\$7,895.00	\$21,963.89
55	0470-1	Timber - 4 x 4 (Posts) - ADDENDUM #2	MB	0.628	\$9,500.00	\$5,966.00	\$7,895.00	\$4,958.06
56	0514-71-2	Plastic Filter Fabric - ADDENDUM #2	SY	815	\$2,50	\$2,037.50	\$2.95	\$2,404.25
57	0515-2302	Pedestrian Bicycle Railing Aluminum Only - 54" Picket Rail	LF	340	\$83.50	\$28,390.00	\$61.85	\$21,029.00
58	0522-1	6' of Concrete Sidewalk	SY	332	\$37.50	\$12,450.00	\$21.90	\$7,270.80
59	0530-3-3	Rip-Rap - Rubble (Boardwalk and Sidewalk)	TN	1.5	\$675.00	\$1,012,50	\$163.00	\$244.50
60	0550-10-212	Fencing (9 Gauge Galv. Wire)	LF	570	\$8.50	\$4,845.00	\$7,40	\$4,218.00
61	0570-1-2	Performance Turf, Sod, Bahla - ADDENDUM #2	SY	616	\$1.90	\$1,170.40	\$1.60	\$985.60
62	MC1	Simpson HU 210 (Or Equal) - ADDENDUM #2	EA	120	\$10.00	\$1,200.00	\$8.40	\$1,008.00
63	MC2	Simpson DTT2 (Or Equal) - ADDENDUM #2	EA	140	\$12.50	\$1,750.00	\$10.25	\$1,435.00
64	MC3	Simpson LTT19 (Or Equal) - ADDENDUM #2	EA	4	\$23.50	\$94.00	\$19.75	\$79.00
65	MC4	Simpson ABE44 (Or Equal) - ADDENDUM #2	EA	6	\$30.00	\$180.00	\$26.35	\$158.10
66	MC5	Simpson H4 (Or Equal) - ADDENDUM #2	EA	12	\$30.00	\$360.00	\$26.35	\$316.20
67	MC6	1/2" SS 304 HILTI HI-HY 150 Adhesive Anchors - ADD. #2	EA	10	\$30.00	\$300.00	\$26.35	\$263.50
68	MC7	Fastening Hardware Remainder (Bolts, Screws, Nails) - ADD. #2	LB	130	\$150.00	\$19,500.00	\$126.35	\$16,425.50
-27		SUBTOTAL PERICO BAYOU BOARDWALK & SIDEWALK				\$263,816.40		\$236,503.63
		The state of the s	**************************************	-parantanista-ritari				

Page 3 of 4 1/23/2013

DISCRETIONARY

TOTAL PERICO BAYOU BOARDWALK & SIDEWALK

TOTAL BID PRICE "B" - 120 Catendar Days

\$23,000.00

\$286,816.40

\$586,694.70

\$23,000.00

\$259,503.63

\$679,360.73

BID "B" 120 CALENDAR DAYS		Gator Grading & Paving LLC 2704 105th Street East Palmetto, FL 34221 (Manatee County)	Superior Asphalt, Inc. P.O. Box 2489 Oneco, FL 34264 (Manatee County)
Acknowledged Addendum #1 dated 12/14/12		Yes	Yes
Acknowledged Addendum #2 dated 12/21/12		Yes	Yes
Acknowledged Addendum #3 dated 1/11/13		Yes	No
Contractor's Questionnaire		Yes	Yes
Contractor's License		CGC #1514102 - 8/16/07 Expires 8/31/14 CUC #1224433- 8/16/07 Expires 8/31/14	CGC #034831
Florida Trench Safety Act		Yes	Yes
Public Contracting & Environmental Crimes	RECEIVED TO	Yes	Yes
Bid Bond	THE REPORTS	Yes	Yes
Affidavit for Local Business (if applicable)		Yes	Yes
Notes:		N/A	N/A

PREPARED BY: (Project Mgmt)	Show Robinson Sherri Robinson, Assessment Coordinator	1/23/13 Date
REVIEWED BY:	Slidy Shea	1/23//3
(Project Engineer)	Alfdys AllceaMonsantos, Engineering Specialist I	Date
REVIEWED BY:	Bm	1-23-13
(Project Mgmt)	Brian Martineau, Sr. Engineering Specialist	Date
APPROVED BY:	Olastorial Contract Contract	1-24-13
(Purchasing)	Olga Valcich, Contract Specialist	Date

1/23/2013

Page 4 of 4